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Answer key 

Comprehension 2 

1 i) He lost his memory. 

ii) He became disabled/could not walk. 

2 happy/joyful 

3 Parton laughed (for the first time in 

months) 

4 Because he had not laughed for 

months/he had been depressed for 

months. 

5 i) depressed 

 ii) encountered 

 iii) poked 

 iv) astonished 

6 It implies that they had a very close 

relationship that could not be broken. 

7 14/fourteen years 

8 i) get dressed 

 ii) bathe 

 iii) get money from cash  machines 

9 because he had a joint condition in his 

front legs 

10 because he was an excellent service dog 

who saved his owner’s life (any 

reasonable answer) 

 

 

 

 

11 speeding 

 wheelchair 

 painful 

 moving 

 tug/pull 

cover 

handed/gave 

help 

raced/ran 

12 I C 

 II A 

 III D 

 IV E 

 V B 

 


